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Marking Scheme 
Strictly Confidential 

(For Internal and Restricted use only) 
Senior School Certificate Examination, 2025 

SUBJECT NAME  BIOLOGY (SUBJECT CODE 044) (PAPER CODE 57/5/3) 

 
General Instructions: - 

1  You are aware that evaluation is the most important process in the actual and 
correct assessment of the candidates. A small mistake in evaluation may lead to 
serious problems which may affect the future of the candidates, education system 
and teaching profession. To avoid mistakes, it is requested that before starting 
evaluation, you must read and understand the spot evaluation guidelines carefully. 

2  “Evaluation policy is a confidential policy as it is related to the confidentiality of 
the examinations conducted, Evaluation done and several other aspects. Its’ leakage 
to public in any manner could lead to derailment of the examination system and 
affect the life and future of millions of candidates. Sharing this policy/document to 
anyone, publishing in any magazine and printing in News Paper/Website etc may 
invite action under various rules of the Board and IPC.” 

3  Evaluation is to be done as per instructions provided in the Marking Scheme. It 
should not be done according to one’s own interpretation or any other consideration. 
Marking Scheme should be strictly adhered to and religiously followed. However, 
while evaluating, answers which are based on latest information or knowledge 
and/or are innovative, they may be assessed for their correctness otherwise and due 
marks be awarded to them. In class-X, while evaluating two competency-based 
questions, please try to understand given answer and even if reply is not from 
marking scheme but correct competency is enumerated by the candidate, due marks 
should be awarded. 

4  The Marking scheme carries only suggested value points for the answers 
These are in the nature of Guidelines only and do not constitute the complete 
answer. The students can have their own expression and if the expression is correct, 
the due marks should be awarded accordingly. 

5  The Head-Examiner must go through the first five answer books evaluated by each 
evaluator on the first day, to ensure that evaluation has been carried out as per the 
instructions given in the Marking Scheme. If there is any variation, the same should 
be zero after delibration and discussion. The remaining answer books meant for 
evaluation shall be given only after ensuring that there is no significant variation in 
the marking of individual evaluators. 

6  Evaluators will mark( √ ) wherever answer is correct. For wrong answer CROSS 
‘X” be marked. Evaluators will not put right (✓)while evaluating which gives an 
impression that answer is correct and no marks are awarded. This is most common 
mistake which evaluators are committing. 

7  If a question has parts, please award marks on the right-hand side for each part. 
Marks awarded for different parts of the question should then be totaled up and 
written in the left-hand margin and encircled. This may be followed strictly. 

8  If a question does not have any parts, marks must be awarded in the left-hand 
margin and encircled. This may also be followed strictly. 

9  If a student has attempted an extra question, answer of the question deserving more 
marks should be retained and the other answer scored out with a note “Extra 
Question”. 
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10  No marks to be deducted for the cumulative effect of an error. It should be 
penalized only once. 

11  A full scale of marks 0-70 has to be used. Please do not hesitate to award full marks 
if the answer deserves it. 

12  Every examiner has to necessarily do evaluation work for full working hours i.e., 8 
hours every day and evaluate 20 answer books per day in main subjects and 25 
answer books per day in other subjects (Details are given in Spot Guidelines). 

13  Ensure that you do not make the following common types of errors committed by 
the Examiner in the past:- 

● Leaving answer or part thereof unassessed in an answer book. 
● Giving more marks for an answer than assigned to it. 
● Wrong totalling of marks awarded on an answer. 
● Wrong transfer of marks from the inside pages of the answer book to the 

title page. 
● Wrong question wise totalling on the title page. 
● Wrong totalling of marks of the two columns on the title page. 
● Wrong grand total. 
● Marks in words and figures not tallying/not same. 
● Wrong transfer of marks from the answer book to online award list. 
● Answers marked as correct, but marks not awarded. (Ensure that the 

right tick mark is correctly and clearly indicated. It should merely be a 
line. Same is with the X for incorrect answer.) 

● Half or a part of answer marked correct and the rest as wrong, but no 
marks awarded. 

14  While evaluating the answer books if the answer is found to be totally incorrect, it 
should be marked as cross (X) and awarded zero (0) Marks. 

15  Any un assessed portion, non-carrying over of marks to the title page, or totalling 
error detected by the candidate shall damage the prestige of all the personnel 
engaged in the evaluation work as also of the Board. Hence, in order to uphold the 
prestige of all concerned, it is again reiterated that the instructions be followed 
meticulously and judiciously. 

16  The Examiners should acquaint themselves with the guidelines given in the 
“Guidelines for spot Evaluation” before starting the actual evaluation. 

17  Every Examiner shall also ensure that all the answers are evaluated, marks carried 
over to the title page, correctly totalled and written in figures and words. 

18  The candidates are entitled to obtain photocopy of the Answer Book on request on 
payment of the prescribed processing fee. All Examiners/Additional Head 
Examiners/Head Examiners are once again reminded that they must ensure that 
evaluation is carried out strictly as per value points for each answer as given in the 
Marking Scheme. 
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MARKING SCHEME 

Senior Secondary School Examination, 2025 
BIOLOGY (Subject Code–044) 

[Paper Code: 57/5/3] 
          Maximum Marks: 70 

Q.NO.                                  EXPECTED ANSWER/ VALUE POINTS Marks Total 
Marks 

 SECTION A   

1. (D) / Promoter 1 1 

2. Award 1 mark if the child has attempted any one option.  1 1 

3. (C) / ESTs 1 1 

4. (C) / Autosomal dominant trait 1 1 

5. (C) / Spleen 1 1 

6. (D) / (i) and (iv) 1 1 

7. (C) / Spotted cuscus – Lemur 1 1 

8. (A) / AGGUAUCGCAU 1 1 

9. (A) / tRNA 1 1 

10. (B) / Streptococcus 1 1 

11. (C) / Cellulase 1 1 

12. (A) / 1 : 1 1 1 

13. 
(A) / Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation 
of the Assertion (A). 

1 1 

14. (C) / Assertion (A) is true, but Reason (R) is false. 1 1 

15. (D) / Assertion (A) is false, but Reason (R) is true. 1 1 

16. (C) / Assertion (A) is true, but Reason (R) is false. 1 1 

 

SECTION B 

  

17. (a) - Diagram (ii) is the correct replicating fork  

     - The DNA – dependent DNA polymerase catalyse polymerisation only in one direction, 
that is 5’→3’  

    - On one template strand with polarity 3’→ 5’ DNA synthesis is continuous and on other 
template strand with polarity 5’→3’ DNA replication is discontinuous.   

(b) DNA ligase                                                                                     

½ 

½ 

 

½ 

½ 

 

 

 

 

 

2 



XII_044_57/3 /3 Biology # Page-4 
 

18. (a)  Taq polymerase 

(b) It forms overhanging stretches called sticky ends, which facilitates hydrogen bond 
formation with their complementary cut parts by DNA ligase.  

(c) Escherichia coli/E.coli 

½ 

½+½ 

 

½ 

 

 

 

2 

19. 
(a) Fig species can be pollinated only by its ‘partner’ wasp species   and no other 
species, the female wasp uses the fruit not only as an oviposition  
(egg-laying) site, but also uses the developing seeds within the fruit for nourishing the 
larvae, the wasp pollinates the fig inflorescence while searching for suitable egg-
laying site.                                            

OR 

(b) Ecological pyramid of number. 

 
 

1 mark for correct Trophic levels 

1 mark for correct diagram of Inverted pyramid of number 

 

 

½ x4 

 

 

 

 

 

 

 

 

 

 

 

 

 

1+1 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2 

20. (a) 

 Amniocentesis : Some of the amniotic fluid of the developing foetus is taken to 
analyse the fetal cells and dissolved substances.  

  Misuse : Sex-determination of foetus which lead to increase in female foeticide 

OR 

(b) 

 Gonorrhoea, chlamydiasis, genital warts, trichomoniasis, syphilis, genital herpes, 
hepatitis-B, AIDS                                                                        (Any two diseases) 

Pelvic inflammatory diseases (PID), abortions, still births, ectopic pregnancies, infertility or 
even cancer of the reproductive tract                                              (Any two complications) 

 
 

1 

1 

 
 
 
½+½ 

 

½+½ 

 

 

 

 

 

 

 

 

 

2 

21. (a)-Each antibody molecule has four peptide chains/an antibody molecule is represented as 
H2L2 

-Two small chains called light chains 

-two longer chains called heavy chains 

-It has an antigen binding site at N end (amino end)  

- It has disulphide bond between different parts of proteins or proteins of different chains   

(Any four points) 

// 

 

 

 

½ x4 
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OR 

(b) - Ensuring availability of HIV free blood in blood banks 

-   Ensuring the use of only disposable needles and syringes in public and private hospitals 
and clinics 

- Free distribution of condoms. 

- Controlling drug abuse. 

- Advocating safe sex. 

- Promoting regular check-ups for HIV in susceptible populations. 

- Preventing infection during blood transfusions in patients. 

- Monitoring of pregnant women for HIV                                            (Any four Measures) 

 

 

 

 

½ x4 

 

 

 

 

 

 

 

 

 

 

½ x4 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2 

 

SECTION C 

  

22. 
(a) The given type of pollination prevents inbreeding depression/ prevents loss of 

fertility/promote hybrid vigour/ improve genetic variability 

(b) - The plant will not show geitonogamy 

- because in this flowering plant pollen release and stigma receptivity are not 
synchronised/as the flowers are present on different plants. 

 

1 

 

1 

1 

 

 

 

 

 

3 

23. - Made crops more tolerant to abiotic stresses (cold, drought, salt, heat). 

- reduced reliance on chemical pesticides (pest resistant crops). 

- helped to reduce post-harvest losses. 

- increased efficiency of mineral usage by plants (this prevents early exhaustion of fertility of 
soil). 

- enhanced nutritional value of food (eg. golden rice i.e. vitamin ‘A’ enriched rice). 

- tailor-made plants to supply alternative resources to industries in the form of starches, fuels 
and pharmaceuticals.                                                                      (Any three advantages) 

 

 

 

 

1x3 

 

 

 

 

 

 

 

3 

24. The signals of parturition originate from the fully developed fetus and the placenta, which 
induce mild uterine contractions called fetal ejection reflex, this triggers release of oxytocin 
from the maternal pituitary, Oxytocin acts on the uterine muscles and causes stronger uterine 
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contractions, which in turn stimulates further secretion of oxytocin, the stimulatory reflex 
between the uterine contraction and oxytocin secretion continues resulting in stronger and 
stronger contractions which leads to expulsion of the baby out of the uterus through the birth 
canal.                                                          

½ x6  

3 

25. - Turner’s syndrome   

- Such females are sterile, ovaries are rudimentary, lack of secondary sexual characters, 
short-statured, underdeveloped feminine character                                (Any two symptoms) 

1 

 

1 x2 

 

 

3 

26. 

 

 

 

 The Amazon rain forest is being cut and cleared for cultivating soya beans or for 

conversion of grasslands for raising beef cattle which threaten survival of many 

species. 

 When large habitats are broken up into small fragments mammals and birds requiring 

large territories, and certain animals with migratory habits are badly affected leading 

to their extinction or population decline.                                                                 

 

1 

 

 

 

1+1 

 

 

 

 

 

 

3 

27. (a) BOD – Biochemical Oxygen Demand 

(b)  

 The amount of the oxygen that would be consumed if all the organic matter in 1 litre 
of water were oxidised by bacteria. 

 The greater the BOD of waste water more is its polluting potential      

1 

 

1 

 

1 

 

 

 

 

3 

28. 

 

(a) Three alleles 

(b) Co-dominance. 

(c) Yes, they can have a child with ‘O’ blood group 

 

 

½ 

½ 

½ 

 

 

 

1½ 

 

 

 

 

 

 

 

 

 

 

 

 

 

3 

 

SECTION D 

  

29. (a) (iii) Greater, Greater  

(b) (i) Divergent evolution 

      (ii) Divergent evolution  

  - both indicates common ancestry as in both cases cytochrome C is the respiratory pigment. 

1 

 

½ 

½ 

1 
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(c) (i) Convergent evolution: Different structures evolving for the same function and hence 

having similarity.              

OR 

(c) (ii) Divergent evolution: Same structure developed along different directions due to 

adaptations to different needs.                                                    

 

1 

 

 

1 

 

 

 

 

 

4 

30. 

 

 

 

 

 

(a) 15 – 16 years or Adolescence period (12-18 years of age)  

(b) Clearing of forest / deforestation / Narco-deforestation / extinction of species / promotes 

monoculture that will further lead to loss of 

(c) (i) 

 Inflorescence / flower tops / leaves / resin. 

  Affects the cardiovascular system of the body/any other correct effect               

OR 

(c) (ii) - Erythroxylum coca  

           - Causes hallucinations.                                                              

1 

 

1 

 

 

1 

1 

 

 

1 

1 

 

 

 

 

 

 

 

 

 

 

4 

 

SECTION E 

  

31.  (a) (i) When resources in the habitat are unlimited each species has the ability to realize fully 

its innate potential to grow in number, the population grow in an exponential or geometric 

fashion, It results in a J-shaped curve when we plot population density in relation to time.   

(ii) dN/dt = (b – d) rN / dN/dt = rN / Nt = N0ert 

r = intrinsic rate of natural increase 

N = size of the population 

b = birth rate 

d = death rate 

(iii) Exponential growth curve   

 

 

 

 

½ x3 

 

 

½ 

 

 

½ 

 

 

1 

 

 

 

 

1½ 
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OR 

(b) (i)- Within a region species richness increases with increasing explored area, but only up 

to a limit  

(ii) log S = log C + 2 log A / S = CAZ 

 

(iii) 

 

 

 

1+1 

 

1 

 

 

 

 

 

 

½ x4 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

5 

32. 

 
(a) Using Agrobacterium vectors nematode–specific genes were introduced into the 

host plants, the introduction of DNA was such that it produced both sense and 
anti-sense RNA in the host cells, these two RNA’s being complementary to each 
other formed a double stranded (dsRNA), that initiated RNAi and thus silenced  
the specific mRNA of the nematode, consequently the parasite could not survive 
in a transgenics host expressing specific interfering RNA     

 

OR 

(b) - Denaturation : strands of dsDNA are separated by heating    

                 - Annealing: Multiple copies of the gene (or DNA) of interest is synthesised 
‘in vitro’ using two sets of primers  

                  - Extension : the enzyme thermostable DNA polymerase/Taq  polymerase, 
isolated from a bacterium Thermus aquaticus, extends the primers using the 
deoxyribonucleotides provided in the reaction and the genomic DNA as a the template 

                 - Amplification : replication of DNA is repeated many times to form more than a 

billion copies of a fragment of  DNA 

// 

 

 

1x5 

 

 

 

 

½+½ 

½+½ 

 

 

½ x4 

 

½+½ 
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½ x10 

 

 

 

 

 

 

 

 

 

5 

33.  (a) (i) Embryo of a monocotyledon seed has one cotyledon called scutellum, situated 

towards one side (lateral) of the embryonal axis at its lower end, the embryonal axis has the 

radical and root cap, enclosed in an undifferentiated sheath coleorhiza, The portion of the 

embryonal axis above the level of attachment of scutellum is epicotyl, and a few leaf 

primordia enclosed in a hollow foliar structure the coleoptile 

 

/ 

 

 (Marks to be allotted if the key points are depicted in the diagram in lieu of explanation.)                     

(ii) 

• Some of the Nucellar cells surrounding the embryo sac start dividing, and protrude into 

the embryo sac and develop into embryos.   

• Apomixis/Polyembryony                                

OR 

(b) (i) - Rete testis, The seminiferous tubules of the testis open into the Vasa efferentia 

through rete testis 

          - Vasa efferentia, leave the testis and open into epididymis located along the posterior 

surface of each testis 

 

 

½ x6 

 

 

 

 

 

 

 

 

 

½ x6 

 

 

 

 

 

 

 

1 

 

1 

 
 

½+½ 
 
 

½+½ 
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          - Epididymis, the epididymis leads to Vas deferens 

         - Vas deferens, this ascends to the abdomen and loops over the urinary bladder.    

(ii) FSH acts on Sertoli cells, stimulates secretion of some factors which help in the process of 

spermiogenesis (which is a part of spermatogenesis). 

 
½+½ 

½+½ 

 
½+½ 

 

 

 

 

5 
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अंकन योजना 
कड़ाई से गोपनीय 

(केवल आंतįरक और Ůितबंिधत उपयोग के िलए) 
सीिनयर ˋूल सिटŊिफकेट परीƗा, 2025 

िवषय का नाम जीविवǒान (िवषय कोड 044) (पेपर कोड 57/5/3) 
सामाɊ िनदőश:- 

1 आप जानते हœ िक उʃीदवारो ंके वाˑिवक और सही मूʞांकन मŐ मूʞांकन सबसे 
महȕपूणŊ ŮिŢया है। मूʞांकन मŐ एक छोटी सी गलती गंभीर सम˟ाएं पैदा कर 
सकती है जो उʃीदवारो ंके भिवˈ, िशƗा Ůणाली और िशƗण पेशे को Ůभािवत 
कर सकती है। गलितयो ंसे बचने के िलए, यह अनुरोध िकया जाता है िक मूʞांकन 
शुŝ करने से पहले, आपको ˙ॉट मूʞांकन िदशािनदőशो ंको ȯान से पढ़ना और 
समझना चािहए। 

2 "मूʞांकन नीित एक गोपनीय नीित है Ɛोिंक यह आयोिजत परीƗाओ ंकी 
गोपनीयता, िकए गए मूʞांकन और कई अɊ पहलुओ ंसे संबंिधत है। िकसी भी 
तरह से जनता को इसका लीक होने से परीƗा Ůणाली पटरी से उतर सकती है और 
लाखो ंउʃीदवारो ंके जीवन और भिवˈ को Ůभािवत कर सकती है। इस 
नीित/दˑावेज को िकसी को भी साझा करना, िकसी पिũका मŐ Ůकािशत करना और 
समाचार पũ/वेबसाइट आिद मŐ छपना बोडŊ और आईपीसी के िविभɄ िनयमो ंके 
तहत कारŊवाई को आमंिũत कर सकता है। 

3 मूʞांकन अंकन योजना मŐ िदए गए िनदőशो ंके अनुसार िकया जाना है। यह िकसी 
की अपनी ʩाƥा या िकसी अɊ िवचार के अनुसार नही ंिकया जाना चािहए। 
अंकन योजना का कड़ाई से पालन िकया जाना चािहए और धािमŊक ŝप से पालन 
िकया जाना चािहए। तथािप, मूʞांकन करते समय, जो उȅर नवीनतम सूचना या 
ǒान पर आधाįरत हœ और/या नवाचारी हœ, उनका मूʞांकन उनकी शुȠता के िलए 
िकया जा सकता है अɊथा और उɎŐ उिचत अंक िदए जाएं। कƗा-XII मŐ, योƶता 
आधाįरत दो Ůʲो ंका मूʞांकन करते समय, कृपया िदए गए उȅर को समझने का 
Ůयास करŐ और यिद उȅर अंकन योजना से नही ंहै लेिकन उʃीदवार Ȫारा सही 
योƶता की गणना की गई है, तो भी उिचत अंक िदए जाने चािहए। 

4 अंकन योजना मŐ उȅरो ंके िलए केवल सुझाए गए मूʞ िबंदु हœ 

ये केवल िदशा-िनदőशो ंकी Ůकृित के हœ और पूणŊ उȅर नही ंहœ। छाũो ंकी अपनी 
अिभʩİƅ हो सकती है और यिद अिभʩİƅ सही है, तो िनयत अंक तदनुसार िदए 
जाने चािहए। 

5 Ůधान परीƗक को पहले िदन Ůȑेक मूʞांकनकताŊ Ȫारा मूʞांकन की गई पहली 
पांच उȅर पुİˑकाओ ंको पढ़ना चािहए, तािक यह सुिनिʮत िकया जा सके िक 
अंकन योजना मŐ िदए गए िनदőशो ंके अनुसार मूʞांकन िकया गया है। यिद कोई 
िभɄता है, तो िवचार-िवमशŊ और चचाŊ के बाद शूɊ होना चािहए। मूʞांकन के िलए 
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शेष उȅर पुİˑकाएं केवल यह सुिनिʮत करने के बाद दी जाएंगी िक ʩİƅगत 
मूʞांकनकताŊओ ंके अंकन मŐ कोई महȕपूणŊ िभɄता नही ंहै। 

6 मूʞांकनकताŊ जहां भी उȅर सही है, वहां (√) िचि˥त करŐ गे। गलत उȅर के िलए 
CROSS 'X' अंिकत िकया जाना चािहए। मूʞांकनकताŊ मूʞांकन करते समय सही 
(✓) नही ंडालŐगे, िजससे यह आभास होता है िक उȅर सही है और कोई अंक नही ं
िदया जाता है। यह सबसे आम गलती है जो मूʞांकनकताŊ कर रहे हœ। 

7 यिद िकसी Ůʲ मŐ भाग हœ, तो कृपया Ůȑेक भाग के िलए दाईं ओर अंक दŐ। Ůʲ 
के िविभɄ भागो ंके िलए िदए गए अंको ंको तब कुल िकया जाना चािहए और बाएं 
हाथ के मािजŊन मŐ िलखा जाना चािहए और घेर िलया जाना चािहए। इसका सƢी से 
पालन िकया जा सकता है। 

8 यिद िकसी Ůʲ मŐ कोई भाग नही ंहै, तो अंक बाएं हाथ के मािजŊन मŐ िदए जाने 
चािहए और घेरा जाना चािहए। इसका सƢी से पालन भी िकया जा सकता है। 

9 यिद िकसी छाũ ने एक अितįरƅ Ůʲ का Ůयास िकया है, तो अिधक अंक के योƶ 
Ůʲ का उȅर बरकरार रखा जाना चािहए और दूसरे उȅर को "अितįरƅ Ůʲ" नोट 
के साथ ˋोर िकया जाना चािहए। 

  10 ũुिट के संचयी Ůभाव के िलए कोई अंक नही ंकाटा जाना चािहए। इसे केवल एक 
बार दंिडत िकया जाना चािहए। 

  11 0-70 अंको ंके पूणŊ पैमाने का उपयोग करना होगा। कृपया पूणŊ अंक देने मŐ संकोच 
न करŐ यिद उȅर इसके योƶ है। 

  12 Ůȑेक परीƗक को आवʴक ŝप से पूरे कायŊ घंटो ंके िलए मूʞांकन कायŊ करना 
होता है, अथाŊत Ůितिदन 8 घंटे और मुƥ िवषयो ंमŐ Ůितिदन 20 उȅर पुİˑकाओ ं
और अɊ िवषयो ंमŐ Ůितिदन 25 उȅर पुİˑकाओ ंका मूʞांकन करना होता है 
(िववरण ˙ॉट िदशािनदőशो ंमŐ िदए गए हœ)। 

  13 सुिनिʮत करŐ िक आप अतीत मŐ परीƗक Ȫारा की गई िनɻिलİखत सामाɊ Ůकार 
की ũुिटयां नही ंकरते हœ: - 

● उȅर पुİˑका मŐ उȅर या उसके भाग का मूʞांकन िकए िबना छोड़ना। 
● िकसी उȅर के िलए िदए गए अंक से अिधक अंक देना। 
● िकसी उȅर पर िदए गए अंको ंका गलत योग । 
● उȅर पुİˑका के अंदर के पɄो ंसे शीषŊक पृʿ पर अंको ंका गलत ̾थानांतरण। 
● शीषŊक पृʿ पर गलत Ůʲ के अनुसार टोटल। 
● शीषŊक पृʿ पर दो ˑंभो ंके अंको ंका गलत योग। 
● गलत भʩ कुल। 
● शɨो ंऔर आंकड़ो ंमŐ अंक मेल नही ंखाते/समान नही ंहोते हœ। 
● उȅर पुİˑका से अंको ंका ऑनलाइन पुरˋार सूची मŐ गलत ̾थानांतरण। 
● उȅरो ंको सही के ŝप मŐ िचि˥त िकया गया है, लेिकन अंक नही ंिदए गए हœ। 

(सुिनिʮत करŐ िक सही िटक माकŊ  सही और ˙ʼ ŝप से इंिगत िकया गया है। 
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यह केवल एक पंİƅ होनी चािहए। गलत उȅर के िलए एƛ के साथ भी ऐसा 
ही है। 

● उȅर का आधा या एक िहˣा सही और बाकी गलत के ŝप मŐ िचि˥त िकया 
गया था, लेिकन कोई अंक नही ंिदया गया था। 

 14 उȅर पुİˑकाओ ंका मूʞांकन करते समय यिद उȅर पूरी तरह से गलत पाया 
जाता है, तो इसे Ţॉस (X) के ŝप मŐ िचि˥त िकया जाना चािहए और शूɊ (0) 
अंक िदए जाने चािहए। 

 15 कोई भी गैर-मूʞांकन भाग, शीषŊक पृʿ पर अंको ंको न ले जाना, या उʃीदवार 
Ȫारा पता लगाई गई कुल ũुिट मूʞांकन कायŊ मŐ लगे सभी किमŊयो ंके साथ-साथ 
बोडŊ की Ůितʿा को भी नुकसान पŠंचाएगी। इसिलए, सभी संबंिधतो ंकी Ůितʿा को 
बनाए रखने के िलए, यह िफर से दोहराया जाता है िक िनदőशो ंका सावधानीपूवŊक 
और िववेकपूणŊ तरीके से पालन िकया जाए। 

  16 परीƗको ंको वाˑिवक मूʞांकन शुŝ करने से पहले "˙ॉट मूʞांकन के िलए 
िदशािनदőश" मŐ िदए गए िदशािनदőशो ंसे पįरिचत होना चािहए। 

  17 Ůȑेक परीƗक यह भी सुिनिʮत करेगा िक सभी उȅरो ंका मूʞांकन िकया गया है, 
अंको ंको शीषŊक पृʿ पर ले जाया गया है, सही ढंग से टोटल िकया गया है और 
आंकड़ो ंऔर शɨो ंमŐ िलखा गया है। 

  18 उʃीदवार िनधाŊįरत Ůोसेिसंग शुʋ के भुगतान पर अनुरोध पर उȅर पुİˑका की 
फोटोकॉपी Ůाɑ करने के हकदार हœ। सभी परीƗको/ंअपर मुƥ परीƗको/ंमुƥ 
परीƗको ंको एक बार िफर याद िदलाया जाता है िक वे यह सुिनिʮत करŐ िक 
मूʞांकन Ůȑेक उȅर के िलए अंक योजना मŐ िदए गए मूʞ िबंदुओ ंके अनुसार 
सƢी से िकया जाता है। 
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अंकन योजना 
उǄतर माȯिमक िवȨालय परीƗा, 2025 

जीव िवǒान (िवषय कोड-044) 

[पेपर कोड: 57/5/3]  

 
 

Ůʲ 
संƥा 

अपेिƗत उȅर / मूʞ अंक अंक कुल 
अंक 

 खǷ क   

1. (D) / उɄायक 1 1 

2. यिद िवȨाथŎ ने कोई एक िवकʙ भी Ůयास िकया है तो 1 अंक दŐ। 1 1 

3. (C) / ईएसटी (ESTs) 1 1 

4. (C) / अिलंगसूũी Ůभावी िवशेषक 1 1 

5. (C) / ɘीहा (˙लीन) 1 1 

6. (D) / (i) and (iv) 1 1 

7. (C) / धɬेदार - लेमर  1 1 

8. (A) / AGGUAUCGCAU 1 1 

9. (A) / टीआरएनए (tRNA) 1 1 

10. (B) / Ōː ेɐोकोकस 1 1 

11. (C) / सेʞूलेज 1 1 

12. (A) / 1 : 1 1 1 

13. 
(A) / अिभकथन (A) और कारण (R) दोनो ंसही हœ और कारण (R), अिभकथन (A) की सही 
ʩाƥा करता है। 

1 1 

14. (C) / अिभकथन (A) सही है, परȶु कारण (R) ग़लत है। 1 1 

15. (D) / अिभकथन (A) ग़लत है, परȶु कारण (R) सही है। 1 1 

16. (C) / अिभकथन (A) सही है, परȶु कारण (R) ग़लत है 1 1 

 

खǷ ख 

  

17. (क) - िचũ (ii) डीएनए Ůितकृित के Ůितकृितयन का सही अिभिचũण (िनŝपण) है  ½ 
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    - डीएनए पर िनभŊर डीएनए पॉलीमरेज बŠलकन केवल एक िदशा 5’ से 3’ (5’ → 3’) की ओर 
उȌेįरत करता है।   

    - 3’→5’ Ŭुवता वाली टे̱ɘेट की लड़ी पर Ůितकृत सतत् होता रहता है जबिक दूसरी लड़ी 
5’ → 3’ Ŭुवता वाले टे̱ɘेट पर यह असतत् होता है। 
(ख) डीएनए लाइगेज 

½ 
 

 

½ 
 

½ 

 

 

 

 

 

2 

18. (क)  टैक पॉिलमरेज   

(ख) Ůȑेक लड़ी मŐ Ůलंबी फैलाव िमलते हœ िजɎŐ िचपिचपा या İːकी िसरा कहते हœ, िचपिचपा 
(İːकी) िसरा अपने पूरक कटे Ůितŝप के साथ हाइडŌ ोजन आबंध या बॉȵ बनाते हœ  

(ग) एशįरिकआ कोलाई/ ई.कोलाई                                      

½ 
 

½+½ 
 

½ 

 

 

 

 

2 

19. 
(क) अंजीर जाित केवल इसके ‘साथी’ बरŊ की जाित से ही परािगत हो सकती है दूसरी 
जाित से नही,ं मादा बरŊ फल को न केवल अंडिनƗेपण (अंडे देने) के िलए काम मŐ लेती 
है, बİʋ फल के भीतर ही वृİȠ कर रहे बीजो ंको िडंबको ं(लावŎ) के पोषण के िलए 
Ůयोग करती है, अंडे देने के िलए उपयुƅ ̾थल की तलाश करते Šए बरŊ अंजीर 
पु˃Ţम या इनɢोरेसŐस को परािगत करती है 

अथवा 

(ख) संƥा का िपरैिमड 

 
 

1 अंक सही पोषण ˑर के िलए 

1 अंक संƥा का उʐा िपरैिमड के सही िचũ के िलए 

 

 

 

½ x4 
 

 

 

 

 

 

 

 

1+1 
 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2 

20.  

(क) 

 एमीनोसœटैिसस : एमनीओिटक ūʩ मŐ घुले पदाथŘ व िवकासशील űूण की कोिशकाओ ं
का िवʶेषण िकया जाता है। 

 दुŜपयोग : űूण की जाँच िलंग परीƗण के कारण मादा űूण हȑा की घटना बढ़ी है 

  

अथवा 
(ख)  

 
 
 
 
1 
 
 
1 
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 सुजाक या गोनोįरया, िसिफिलस, हपŎस, जनिनक पįरसपŊ या जेनाइिटल हपŎ.जा, 
Ƒेिमिडयता, टŌ ाइकोमोनसता, लœिगक मˣे, यकृतशोथ-बी, एच आई वी/एड्स 

(कोई दो रोग) 

 ŵोिण-शोथज रोग या पी आई डी), गभŊपात, मृतिशशु जɉ, अ̾थािनक सगभŊता, बंȯता अथवा 
जनन मागŊ का कœ सर हो सकता है।                                  (कोई दो जिटलताएं) 

 
½+½ 

 
 
 
 

½+½ 

 

 

 

 

 

 

2 

21. (क) - Ůȑेक ŮितरƗी अणु मŐ चार पेɐाइड Şंखलाएँ होती हœ/ ŮितरƗी को H2L2 के ŝप मŐ 
दशाŊया जाता है। 
- दो छोटी जो लघु Şंखलाएँ कहलाती हœ 
- दो बड़ी जो दीघŊ Şंखलाएँ कहलाती 
-  इसमŐ अमीनो अʅ के N िसरे पर Ůितजन बंधक ̾थल होता है 

-  इसमŐ डाइसʚाइड बॉȵ दो भारी और दो हʋी ŵंृखलाओ ंको आपस मŐ जोड़ते हœ 
(कोई चार) 

// 
 

 

   अथवा 
(ख) - रƅ बœक के रƅ को एचआईवी से मुƅ करना   

       -  सावŊजिनक और िनजी अ˙तालो ंऔर İƑिनको ंमŐ केवल ŮयोǛ या िड˙ोजेबल सुईयाँ 
और िसįरंज ही काम मŐ लाई जाएँ-इसकी ʩव̾था करना 
      - कंडोम का मुɞ िवतरण 

      - डŌ ग के कुŮयोग को िनयंिũत करना 
      -  सुरिƗत यौन संबंधो ंकी िसफाįरश करना 
      - सुŤाही समिʼ (ससेɐेबुल पॉपुलेशन) मŐ एचआईवी के िलए िनयिमत जाँच को बढ़ावा देना 
      - रƅ और Ŝिधर उȋादो ंके आधान के दौरान संŢमण को रोकना 
      - एचआईवी के िलए गभŊवती मिहला की जाँच करना                              (कोई चार उपाय) 

 

 

 

 

 

½ x4 
 

 

 

 

 

 

 

 

½ x4 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

½ x4 
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2 

 

खǷ ग 

  

22. 
(क) िनरंतर ˢ परागण के फलˢŝप Ůजनन मŐ अȶः  Ůजनन अवनमन होता है 
इसिलए दी गई परागण िविध अȶः  Ůजनन अवनमन को रोकता है/ Ůजनन Ɨमता मŐ 
कमी को रोकता है/ संकर ओज या हेटेरोिसस को बढ़ावा देती है 

(ख) - इस Ůकार के पु˃ी पादप मŐ सजातपु˃ी परागण नही ंहो सकता ।   

     - Ɛोिंक पराग अवमुİƅ एवं वितŊकाŤ Ťा˨ता समकािलक नही ंहोती है या तो वितŊकाŤ के 
तैयार होने से पहले ही पराग अवमुƅ कर िदए जाते हœ या िफर परागो ंके झड़ने से काफी 
पहले ही वितŊकाŤ Ťा˨ बन जाता है।   

 

1 
 

 

1 
 

 

1 

 

 

 

 

 

 

 

 

3 

23. - अजैव Ůितबलो ं(ठंडा, सूखा, लवण, ताप) के Ůित अिधक सिहˁु फसलो ंका िनमाŊण 

- रासायिनक पीड़कनाशको ंपर कम िनभŊरता करना (पीड़कनाशी-Ůितरोधी फसल) 

- कटाई पʮात् होने वाले (अɄािद) नुकसानो ंको कम करने मŐ सहायक 

- पौधो Ȫारा खिनज उपयोग Ɨमता मŐ वृİȠ (यह शीť मृदा उवŊरता समापन को रोकता है) 

- खाȨ पदाथŘ के पोषिणक ˑर मŐ वृİȠ; उदाहरणाथŊ—िवटािमन ए समृȠ धान (गोʒन राइस) 

- तदनुकुल पौधो ंके िनमाŊण मŐ सहायक है, िजनसे वैकİʙक संसाधनो ंके ŝप मŐ उȨोगो ंमे 
वसा, ईंधन व भेषजीय पदाथŘ की आपूितŊ की जाती                   (कोई तीन लाभ) 

 

 

 

 

 

1x3 

 

 

 

 

 

 

 

 

 

 

3 

24. Ůसव के िलए संकेत पूणŊिवकिसत गभŊ एवं अपरा से उȋɄ होते हœ, जो हʋे (माइʒ) गभाŊशय 
संकुचनो ंको Ůेįरत करते हœ िजɎŐ गभŊ उȁेपन ŮितवतŊ या फीटल इजेƕन रेफलेƛ कहते हœ, 
यह मातृ पीयूष Ťंिथ से ऑƛीटोिसन के िनकलने की िŢया को सिŢय बनाती है, ऑƛीटोिसन 
गभाŊशय पेशी पर कायŊ करता है और इसके कारण जोर-जोर से गभाŊशय सकंुचन होने लगते 
हœ, गभाŊशय संकुचन ऑƛीटोिसन के अिधक ŷवण को उȞीिपत करता है, गभाŊशय संकुचनो ं
तथा ऑƛीटोिसन ŷाव के बीच लगातार उȞीपक ŮितवतŊ के कारण यह संकुचन तीŴ से तीŴतर 
होता जाता है  इससे िशशु माँ के गभाŊशय से जनन नाल Ȫारा बाहर आ जाता है।                                     

 

 

 

 

 

½ x6 

 

 

 

 

 

 

 

 

 

3 

25. - टनŊर िसंडŌ ोम 
- ऐसी नारी बाँझ होती है, अंडाशय अʙविधŊत होते हœ, िȪितयक लœिगक लƗणो ंका अभाव 
होता है, छोटे कद, अिवकिसत ˓ी-स̊श लƗण                                             (कोई दो) 

1 

 

 

 

1x2 

 

 

 

 

 

3 
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26. 

 

 

 

 

 अमेजन वषाŊ-वन को सोयाबीन की खेती तथा जानवरो ंके चारागाहो ंके िलए काटकर 
साफ कर िदया गया है िजससे बŠत सी जाितयो ंके जीवन को खतरा उȋंन Šआ है। 

 जब मानव िŢयाकलापो ंȪारा बड़े आवासो ंको छोटे-छोटे खंडो ंमŐ िवभƅ कर िदया जाता है 
तब िजन ˑनधाįरयो ंऔर पिƗयो ंको अिधक आवास चािहए तथा Ůवासी या माइŤेटर ˢभाव 
वाले कुछ Ůाणी बुरी तरह Ůभािवत होते हœ िजससे समिʼ या पॉपुलेशन मŐ कमी होती है। 
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27. (क)  बी ओ डी – बॉयोकेमीकल ऑƛीजन िडमांड 

(ख)  

 बी ओ डी ऑƛीजन की उस माũा को संदिभŊत करता है जो जीवाणु Ȫारा एक लीटर 
पानी मŐ उपİ̾थत काबŊिनक पदाथŘ की खपत कर उɎŐ ऑƛीकृत कर दŐ। 

 जब ʩथŊ-जल का बी ओ डी अिधक होगा, तब इसकी Ůदूषण Ɨमता भी अिधक होगी। 
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28. 

(क)तीन अलील 

(ख)  सह-Ůभािवता 

(ग) हाँ, उनके िशशु का Ŝिधर वगŊ ‘O’ हो सकता है 
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खǷ घ 

  

29. (क)अिधक, अिधक  

(ख) (i) अपसारी िवकास 

      (ii) अपसारी िवकास 

- दोनो ंसामाɊ पूवŊज परंपरा का संकेत देती हœ Ɛोिंक दोनो ंİˑिथयो ंमŐ साइटोŢोम-सी ʷसन 
वणŊक (िपगमŐट) है। 
(ग) (i) अिभसारी िवकास: एक ही कायŊ के िलए िवकिसत होने वाली िविभɄ संरचनाएं और 
इसिलए समानताएं होना 

अथवा 

(ग) (ii) अपसारी िवकास: एक ही संरचना िविभɄ आवʴकताओ ंके अनुकूलन के कारण िविभɄ 
िदशाओ ंमŐ िवकिसत Šई.          
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30. 
 

 

 

 

 

(क)15 से 16 वषŊ या िकशोराव̾था (12 से 18 वषŊ)  

(ख) वनो ंकी कटाई / वनोɉूलन  / नारको वनोɉूलन / जैव िविवधता की Ɨित / यह एकल फसल
उगाने को बढ़ावा देता है, जो आगे चलकर जैव िविवधता के नुकसान का कारण बनेगा                             

(कोई एक) 

(ग) (i)  

 पु˃Ţम (इंɢोįरसŐस)/फूलो ंके शीषŊ/पिȅयाँ/राल (रेिसन) 

  शरीर के şद-वािहका तंũ (कािडŊयो-वैˋुलर िसːम) को Ůभािवत करते हœ 

                अथवा 
(ग) (ii) - एįरŪोज़ाइलम कोका 
           - अȑिधक माũा से िवűम (हैलुिसनेसन) हो जाता है    
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खǷ ड 

  

31. (क)(i) आदशŊतः  आवास मŐ जब संसाधन असीिमत होते हœ तो Ůȑेक जाित मŐ संƥा मŐ वृİȠ 
कर सकने की अपनी जɉजात शİƅ को पूरी तरह अनुभव करने की योƶता होती है, तब 
समिʼ चरघातांकी (एƛपोनेİ̢शयल) अथवा Ǜािमतीय (ǛोमेिटŌकल) शैली मŐ वृİȠ करती है, 

जब समिʼ घनȕ को समय के संदभŊ मŐ आरेİखत करते हœ तो इसका नतीजा J- आकार का वŢ है.   

(ii) dN/dt = (b – d) xN / dN/dt = rN / Nt = N0ert  

r = Ůाकृितक वृİȠ की इंटŌ ीİ̢जक दर 

N = समिʼ का आकार 

b = जɉ दर 

d = मृȑु दर 

(iii)  चरघातांकी वृİȠ वŢ                                                                                                                           

 

अथवा 

(ख) (i) कुछ सीमा तक, िकसी Ɨेũ की जातीय समृİȠ अɋेषण Ɨेũ की सीमा बढ़ाने के साथ 
बढ़ती है।  

(ii) log S = log C + 2 log A / S = CAZ 
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(iii)  
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32. 

 
(क) एŤोबैİƃįरयम संवाहको ंका उपयोग कर सूũकृिम िविशʼ जीनो ंको परपोषी पौधो ंमŐ Ůवेश 
कराया जा चुका है, डीएनए का Ůवेश इस Ůकार कराया जाता है िक परपोषी कोिशकाओ ंमŐ 
अथŊ (सœस) व Ůित-अथŊ (एटीसœस) आरएनए का िनमाŊण करता है, ये दोनो ंआरएनए एक दूसरे 
के पूरक होते हœ जो िȪसूũीय आरएनए का िनमाŊण करते हœ, िजससे आरएनए अंतरƗेप Ůारंभ 
होता है और इसी कारण से सूũकृिम के िविशʼ दूत आरएनए िनİʻय हो जाते हœ, इसके 
फलˢŝप पारजीवी परपोषी मŐ िविशʼ अंतरƗेपी आरएनए की उपİ̾थित से परजीवी जीिवत 
नही ंरह पाता है  

अथवा 

(ख) – िवकृतीकरण, डबल- Ōː œ डेड डीएनए (dsDNA) उǄ तापमान के कारण दो अलग-अलग 
एकल Ōː œड मŐ खुल जाता है 

      - एनीिलंग, ŮाइमसŊ के दो समुǄयो ं(सेट्स) का उपयोग करते Šए पाũे (इनिवटŌ ो) िविध Ȫारा 
उपयोगी जीन के कई Ůितकृितयो ंका संʶेषण होता है। 
      - िवˑार, ताप̾थायी (थमŖːेबल) डीएनए पॉिलमरेज/ टैक पॉिलमरेज जीवाणु थमŊस एƓेिटकस 
से पृथक िकया गया है, यह एंजाइम िजनोिमक डीएनए को टŐपलेट के ŝप मŐ काम मŐ लेकर; 
अिभिŢया से िमलने वाले ɊूİƑयोटाइडो ंका उपयोग करते Šए उपŢामको ंको िवˑृत कर 
देता है। 

     - ŮवधŊन, डीएनए Ůितकृतयेन ŮŢम कई बार दोहराया जाता है तब डीएनए खंड को लगभग 
एक अरब गुना (एक िबिलयन) ŮविधŊत िकया जा सकता है अथाŊत् एक अरब Ůितŝपो ंका 
िनमाŊण होता है। 

// 
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33. (क) 

(i) एकबीजपũीय-űूण मŐ केवल एक बीजपũ होता है िजसको ˋुटेलम (Ůशʋ) कहते हœ, जो 
űूणीय अƗ के एक तरफ (पा Ŋ̫ की ओर) İ̾थत होता है, इसके िनचले िसरे पर űूणीय अƗ मŐ 
एक गोलाकार और मूल आवरण एक िबना िवभेिदत पतŊ से आवृȅ होता है, िजसे 
(कोिलयोराइजा) मूलाकंुर चोल कहते हœ, ˋुटेलम के जुड़ाव के ˑर से ऊपर űूणीय अƗ के 
भाग को बीजपũोपįरक कहते हœ, बीजपũोपįरक मŐ Ůरोह शीषŊ तथा कुछ आिद कािलक (आȨ) 
पणŊ होते हœ जो एक खोखला-पणीयŊ संरचना को घेरते हœ िजसे Ůांकुरचोल कहते हœ। 
 

/ 

                   
(ii)  

 űूणकोश (पुटी) के आस पास की कुछ बीजांड काियक कोिशकाएँ िवभािजत होने 
लगती हœ और űूणकोश मŐ Ůोȣधी (Ůो ś͖ ड) होती हœ तथा űूण के ŝप मŐ िवकिसत हो 
जाती हœ इस Ůकार की Ůजाितयो ंमŐ Ůȑेक बीजांड मŐ अनेक űूण होते हœ। 
  असंगजनन/ बŠűूणता                            

अथवा 

(ख) (i) - वृषण निलकाएँ (रेटे टेİːस), वृषण की शुŢजनक निलकाएँ वृषण निलकाओ ंके माȯम 
से शुŢवािहकाओ ंमŐ खुलती हœ। 
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         - शुŢ वािहकाएँ (वास इफेरŐ िशया), यह शुŢवािहका वृषण से चलकर अिधवृषण मŐ खुलती 
हœ जो Ůȑेक वृषण के पʮ सतह पर İ̾थत होती है 

         - अिधवृषण (एिपिडिडिमस), अिधवृषण शुŢवाहक की ओर बढ़ते है 

         - शुŢवाहक (वास डेफेरŐस), शुŢवाहक उदर की ओर ऊपर जाती हœ और मूũाशय के 
ऊपर की ओर लूप बनाती है। 

(ii) एफ एस एच सटŖली कोिशकाओ,ं पर कायŊ करता है और कुछ घटको ंके ŷवण को 
उȞीिपत करता है, जो शुŢाणुजनन की ŮिŢया मŐ सहायता करते हœ।  
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